GENERAL SCIENCE- CHEMISTRY / ATMOIC STRUCTURE -3

1.The atomic number of an element is the number of in the nucleus of each atom of that element. /ﬁw_{-ﬁ
dcd T WA AR 3H ded F Todeh WA & AR T wE gl

(a) Protons/SeTeT

(b) Neutrons /m@a

(c) Mesons /A8H

(d) EIectrons/%ﬁﬂr_d':IJH

RRB NTPC 04.03.2021 (Shift-1) Stage Ist

e  The atomic number is the number of protons in the nucleus of an atom. The number of protons define the
identity of an element.

o OXHTY] HEAT Teh GIATY] o 1137k A Helel hT HEAT & | WTall 1 HeT Tl e hr agiret &t
GRS LT &

2. The number of neutrons present in the atom of nitrogen is- /ATSeloTel & qIATIT H 3ufeUqa o-ZI‘\EAUH Fr

RRB ALP & Tec. (13-08-18 Shift-11)

Nitrogen 7N14 has atomic number 7 and atomic mass 14.
Atomic number = Proton = Electron

Z=P=e=7

A=14

* A=P+n

14 =7+n

n=14-7

n=7

Hence neutrons =7

3. An element has 15 protons and 22 neutrons in its nucleus. What is its mass number/T& ded & ATTHS H 15

el 3 22 =gieT &1 SHR GeuAET HE&AT FT g2
(a) 7
(b) 15
(c) 22
(d) 37
RRB ALP & Tec. (31-08-18 Shift-1I)

Mass number of atoms of an element = number of protons in the nucleus + number of neutrons in the nucleus
forel dea & TRATUIT T AT FEAT = AHG A Weld H T + ATfde H wgeiel H Hear

The mass number of the element here = 15 + 22 = 37
4. The isotopes of an element have a mass number of 298. If its nucleus has 188 neutrons, what is its atomic
number?/fFET dcd & FHEATASRT I gegAT FEAr 298 §1 I s8F AfRF 7 188 =ggiet §, r T

URATY] HEAT FAT 7
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(a) 188.0
(b) 488.0
(c) 298.0
(d) 110.0
RRB ALP & Tec. (29-08-18 Shift-I1I)

e We know that A =P+n

e Now A=298 & n=188

e  Therefore P =298- 188 =110

e Because Atomic number = No of proton.

e  Hence the atomic no of that element is 110.

5. The mass number of isotopes of an element is 296. If its nucleus has 198 neutrons, what is its atomic number?
forely dea & FaEATfael A GegA HEAT 296 §1 AR SHS ARG H 198 LI ©, ol SHPT AT
T&AT F7 872

(a) 494.0

(b) 102.0

(c) 298.0

(d) 196.0
RRB ALP & Tec. (30-08-18 Shift-1II)

e Mass number (A) = Number of protons (P) + Number of neutrons (n)
e Number of protons = Atomic number (Z) -

e A=Z+n

e According to Question,

e A=298,N=196

e .298=7Z+196,Z=298-196=102

6. Atomic number is represented by which letter?
URATY] HEAT AT fohd 3R A AT S1elm g2
(@N

RRB JE 31.05.2019 (Shift-I)
e  Atomic number is represented by the letter Z.

o UXHIY] AT I Z &R { ST STl gl

7. What is the atomic number of an element determined? /ﬁv@ dcd <l l:ITJ:l'I'UJ; HAS Fa1 FuRa T
ST &2
(a) Number of electrons in a molecule /Teh 39T H sﬂ&'tjﬁf $r gEar
(b) Number of neutrons in a molecule /T 397 ; RI‘@J?T $r gEar
(c) Valency of element /ded T aerar
(d) Number of protons in a molecule /Teh 39T H drelar r gEar
RRB J.E. (14.12.2014, Green paper)

e  Atomic number refers to the number of
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e protons present in the atom. Let us display it with Z.
o XA HHATH ¥ A HEAT
o TRATY] A Al WS, ST 3H Z & WY Y& iia |

8. In the nucleus number of .... denotes atomic number. /o_-|'l‘f3\-TT=F H ... Fr e 1ZITJ:TTUI TEAT & AT %’I
(a) Proton/9TelsT

(b) Neuton /ag&sT

(c) Electron/sﬁil-_d':ll?-f

(d) Hydron /gTSgTeT

RRB NTPC 16.04.2016 (Shift-1I) Stage Ist

e The number of protons present in the nucleus of an element's atom represents the atomic number of that
element.

o el dca 3 oRAT] % A 7 Fispe el Hr HEar 38 ded i IATT] HET g

9. What can be conclusion fond about the carbon atom from ¢C2? /¢C12 & hIdleT qIATI] F IN F FT ARy

fAepTem ST Hhar B2

(a) It has 12 neutrons and 6 electrons. /sﬂﬁ 12 Fq\ﬁ?f IR 6 sﬁa—ﬁ?r gl
(b) It has 12 protons and 6 neutrons. /38 12 et 3R 6 Fq‘:gff?f gl

(c) It has 6 protons and 12 neutrons /38 6 el 3R 12 Fq@ﬁ g

(d) It has 6 neutrons and 6 protons. /ﬁ'ﬁf 6 o-ZI'\EAuo_-I 3R 6 WeiT gl
RRB Group-D 18-09-2018 (Shift-111)

Ans. (d) : Carbon atom (C'"? In -
X"
where Z = Atomic number = Number of protons =
Number of electrons = 6
A = atomic weight

where N = Number of neutrons
N=A-7Z=12-6= 6 neutron

10. Write the number of neutrons, protons and electrons in 9F19. /9F19 # u-?J‘\EAVIH, el 3R sﬁﬂ'_djﬁ Hr
e fog|

(a) 10 protons, 10 electrons, 9 neutrons

(b) 9 protons, 9 electrons, 9 neutrons

(c) 9 protons, 9 electrons, 10 neutrons
(d) 10 protons, 10 electrons, 10 neutrons

RRB Group-D 03-12-2018 (Shift-111)

SHIPRA CHAUHAN@CLASS24/GENERAL SCIENCE



GENERAL SCIENCE- CHEMISTRY / ATMOIC STRUCTURE -3

Ans. (¢) The number of neutrons, protons and electrons
in oF'” is - 9 protons, 9 electrons, 10 neutrons
respectively.

Number of electrons in an element

,X*= Number of protons = Z

And number of neutrons = A - Z

11.Which of the following elements has the lowest atomic mass? /efli@d & & f&d dea &1 GIATI]
ESTATT TEd A &2

(a) Nitrogen /aTTScTotel

(b) Hydrogen /mss‘la?r

(c) Lithium/fofa#

(b) Helium /@Yferga

RRB ALP & Tec. (10-08-18 Shift-111)

e Element — Atomic Mass

e Nitrogen — 14.0067g/mol

e Hydrogen — 1.00794 g/mol
e Lithium — 6.941g/mol

e Helium —4.002603 g/mo

12. What is the atomic number of an atom that consists of 10 protons and 11 neutrons? /389 GIHATIT pl GITATIT
TR FAT § oA 10 dele 3R 11 =ggia §?
(a)1
(b) 10
(c)11
(d) 21
RRB NTPC 10.04.2016 (Shift-111) Stage Ist

e The number of protons present in the nucleus of an element's atom is called atomic number.
e The sum of the numbers of protons and neutrons present in the nucleus of an atom is called the mass number
of that atom.

o R dca & RAT] & AHE 7 AT WSl H TEAT T RAV] FAE Fod 8
o TR WA & AR A Hise Weld AR =gl & HEAT H AT 3H WA & GedH T FET
e &l

13. There are 10 protons and 17 neutrons present in the nucleus of an element. What will be its mass number?
el dea & a1fd 1 10 Wiele 3R 17 =g AlSg 81 §1 $HHR GeaART HEAT FAT gafe
(a) 10
(b) 27
(c)7
(d) 17
RRB Group-D 01-10-2018 (Shift-111)

e The sum of the number of protons (p) and neutrons (n) Present in the nucleus of an atom is called mass
number (A).
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o e W] & AfeF 7 Aleg Wl (p) 3R FgLA (n) FT FET FT AT GIAT FEAT (A) Ferar
gl

e .~ A=p+n=10+17=27

14. The isotopic mass of an element is 298. If there are 189 neutrons in its nucleus, what will be its atomic
number? /fRET e T AU GedATT 298 §| AfE & A1fAS # 189 #ggiel §, A SHeT THTT
AT FAT GIAM?

(a) 109.0

(b) 298.0

(c) 189.0
(d) 487.0

RRB Group-D 22-09-2018 (Shift-I)

e Number of protons = mass number — number of neutrons = 298 — 189 = 109
e  Atomic number = number of protons = 109

15. How many neutrons are present in Protium?/Sifeas & fohder FG@J?T '«FﬁGj\E g &7
(a) 7
(b) 2
(c)4
(d)o
RRB NTPC 01.02.2021 (Shift-11) Stage Ist
e  Protium has no neutrons in its nucleus. It is considered the most stable isotope of Hydrogen.
e  Protium's atomic weight is 1 and its nucleus consist of only one proton.

o WIRTA & AfHFH F IS ~PgleT AT BT &1 3/ FSgIalel I FaH LR IMSHST ATAT ST

gl
o WRTA FT WA HR 17 3R 58S AHF H Fael T Weld g &

16. The most common isotopes used in a nuclear weapon are of:

WATY] BAAR H 3YANT U S aTel Fed 3T ST &
(a) Uranium and Plutonium /ZXfeia# 3R Colel T H

(b) Deuterium and Lithium /szl(?ﬁ'q?:f 3R s

(c) Uranium and Lithium/{l’ﬁ'ﬂﬂ 3R s

(d) Deuterium and Plutonium /S'Zlgﬂ'q?ir 3R W@ﬁ'ﬂﬂ

RRB JE-2014

The most common isotopes in nuclear weapons are Plutonium 239 and Uranium 235

17. Isotopes are atoms that have the /3R T GIATI] gd ¢ oea g gl
(a) Same atomic number and atomic mass /HHTeT AT T 3R UIHATY] Ged ATl

(b) Same atomic number but different atomic mass /HHTT IIATI] TS offchel ool UYATY] ged AT

(c) Different atomic number and atomic mass /faf#esT AT e 3R UIATI] ged ATl

(d) Same atomic mass but different atomic number/3HTeT GIHATY] Ged ATl oifcheT 3TeTaT-37e1eT IIATI] q&ar
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RRB NTPC 03.04.2021 (Shift-1) Stage Ist

e Atoms of the same element that have the same atomic number, but have different atomic mass number;
They are called isotopes. They contain the same protons in each atom. While the number of neutrons
varies.

o U 1 clcd oh TRATY] TieTehl TATY] HEAT HATS Blcil ©, oHohe] TRATY] Se AT HEAT et Il §; So¢
HSHIEIT T STl & | 3ofeh Tedeh TATY] F HATH WIoT BId § | STeieh =g gleT h HEAT Howt- ot
g gl

o 3CTEIUT: BTSN & cilel GHEATIeh TfeTA (1HI) §

e Example: Hydrogen has three isotopes Protium (1H1)
e  Deuterium (1H2) and Titrium (1H3).

18. When you change the number of neutrons of an atom, its .......... changes? /ST§ 39 fohelT GIATI] & RI‘\EIJ?T
Fr FE&IT dcold g, al 3THT .......... deol ST g?

(a) isotopic/THEAT S

(b) ion /3T

(c) charge/EﬂGﬁ'

(d) element number /dcd T&IT
RRB NTPC 03.04.2016 (Shift-111) Stage Ist
e When you change the number of neutrons of an atom, its isotopic changes./ST& 3719 feh@ir AT & o—Zl‘\EATH
F TEIT I&old g, dl ST ATAT S deol ST g

19. The chemical characteristics are similar, but the atomic mass is different known as? /TI'HTZIﬁEF IEREGIN
A &, Afhed TRAT] gt et 8,38 fohe AW @ ST Sl 82

(a) Isobar/3T8EIER

(b) Isotopes /3T8HCT

(c) Actinides/‘:’ﬁﬂ'l%‘sjﬁ

(d) Isomers /3TSAHE

RRB Group-D 22-09-2018 (Shift-I11T)

When different atoms of the same element have the same atomic number or chemical properties but different mass
numbers, they are called isotopic atoms.

SIS Ueh €1 cled o af#ieeT TRATUI3T Sl SRATI] HEAT IT TAI e T[0T FHTA 81 § olfchel GedHle HEAT et
gl &, Y 35% FFEATfE TRATY] el ST &

20. Isobars have the same number of ............. ? /3-113@31? H oo, N &I gA AT ?l?-ﬁ %’?
(a) lon/3TeT
(b) Nucleus /aTTT&e
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(c) Electron/sﬁil-_ﬁ?f
(d) Proton/9YelsT
RRB Group-D 25-09-2018 (Shift-111)

e Atoms of different substances or elements that have the same atomic mass but have different
atomicnumbers, such elements are called Isobars.

o faffest verf ar deat & THATO] ForeTeht SRHATI] SeaaTet HHIS § ifdhet SRHATI] HEATT 33T 8,
U dcal T HTSHIER gl AT g |

21. Atoms / molecules / ions with equal number of electrons are called....
AT HEIT A gelFelel aTel AT FHgelld g...

(a) Isotonous/3TSHICTH

(b) Isotope /3TSHET

() Isoelectronic/3TSES I Toeh

(d) Valence isoelectronic /doi 3-]13@3@3‘;71?{3?

RRB NTPC Stage Ist 27.04.2016 (Shift-1)

e Atoms/ molecules / ions with equal number of electrons are called isoelectronic. Atoms / molecules/ ions
with the same number of protons are called isotopes

o WA HEAT A Folarelel dlel ILATOY/3IV]/ 3T HTSHISaeloleh Shgelld & | AT HEAT H Wiele arel
TRATOY/ 30T/ 3T Y HTSHICIT gl STl &

22. What is the temperature at which the molecular motion of a gas becomes zero? /dg FiT AT A9AT g o T
W A Fr 3oTfaes AfT L & S §?

(a) absolute scale temperature /q‘\U‘f YA FT AT

(b) absolute zero temperature /9XH Yo ATIHTT

(c) absolute temperature /ET\UST dT9HATT

(d) none of these /38 & IS =TT

RRB J.E. (14.12.2014, Yellow paper)

The temperature at which the molecular motion of a gas becomes zero is called absolute zero temperature.
ag ATIATe fore o) 31 <Y 3MT0Tideh 91T e &1 STl &, A e dTIHTST Shgellcl g |

In the equation PV =nRT of ideal gas —

23. Which of the following states that the volume of a gas is inversely proportional to the pressure of a gas?
eAfaf@a & & &l a1 garar § & 39 &1 I3Fad A & gaa & FhARI Bl 82

(a) Boyle's law/aTaeT &7 s

(b) Gay-Lussac's Iaw/ﬁ-@?ﬁﬁ Fr fFad

(c) Charle's law /aTeq T faae

(d) Avogadro's law/3TaTeTgl &I Ie
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RRB-JE 30.08.2019, Ist Shift

24. An ideal gas at a temperature of 27°C is heated at a constant pressure until the volume of this gas doubles. The
final temperature of the gas will be:

27°CH AT9HA W T e AT & W garg W ad ds 713 fham Sirar § 59 a6 59 3 &

3T QXfAT & g1 STl 3| & 3ifde argame gem:
(a) 54°C
(b) 327°C
(c) 108°C
(d) 654°C
RRB SSE (21.12.2014, Set-07, Yellow paper)

RRB J.E. 2014 (14.12.2014 Set-2, Red Paper)
Ans. (b): T, =27"C =273 +27=300"K

T,=?

V,=Vand V,=2V

At fixed pressure, Ve T | —L=_2

V, .. 2V
T,=—2xT, ==—x300=600K
Y \%
T, =600 -273 =327'C
T, =327°C

25. Which of the following rules is not related to gas?/ﬁﬁﬁf@ﬁ # A g o FuF g 9 gEfog u_-{'(?f %’?
(a) Boyle's law/aTaeT T FaH

(b) Joule's law /STeT T IGEL)

(c) Avogadro's law/37a1aTgr &7 e

(d) Charles's law /el &1 Fae
RRB JE-2014

e Joule's Law - When electric current flows in an electric wire, heat is generated in this wire due to the
resistance of the wire from the current flow, it is called 'Joule's law'. The SI unit of heat (energy) is joule.
While other rules are related to gas

o SIoT T A - 519 fohell [deg el IR # faege U yarfed gl & ot [deg e &RT & g & R & gicRie
& FROT$H dAR H FSAT 3ot BT &, $I ‘ST T 33T Fg<d § | FSAT (Fai) T SI FHTS oIt &1 ST
g A T T aefa g

26. Which of the following will not diffuse?/ﬁmﬁf@?f H O i ar [JaRa Hﬁf ?I'JIT?
(a) Incense sticks smoke /3TTR&xT T ?:’T3-1T
(b) Perfume vapor /S dT™q
(c) Smoke/ig}ﬁ
(d) Fenugreek powder /&2 9r3sT
RRB Group-D 05-11-2018 (Shift-111)
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27. Which properties of gases make them portable?
AT & @it & IOT 3¢ G TS 82
(a) diffusion/9dRX
(b) compressibility /FSTSddr
(c) size/3TTsPX
(d) volume /3T deT
RRB Group-D 02-11-2018 (Shift-1)

e  QGas has no fixed size and volume. Gases have high compressibility. Which makes them portable

o o FrFIS ARTT 3R 3R A 81 giar| AT H ITa TSTdT gicil & | ST 3eg dleaof STl &

28. The volume of a gas is inversely proportional.
I &1 3T SGSHATI BieT g

(a) Pressure/GdTd

(b) Time /AT

(c) density/delcd

(d) Mass /GedHTT
RRB Group-D 24-09-2018 (Shift-11)

e According to Boyle's law - "The volume of a certain volume of a gas at constant temperature is inversely
proportional to the pressure.

o IS & fTTH & HTER - "FEUT ATTATT G 3G & Teh TR AT 7 AT ST & SGeshATATH
glar gl

29. From the equation of ideal gas 4 grams of an ideal gas attains a volume of magnitude of 5.6m3at 54.6K and 2
atomospheric pressures.What will be its molecular weight?

e I & FHAROT F 4 TH A A 54.6K IR 2 WA &a1d W 5.6m3 & GRATIT S AT e

FIAT &1 SHHT UGS AT FAT gIEM?
(a) 32

(b) 16

(c) 64

(d)4

RRB Group-D 12-12-2018 (Shift-11I)
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) From the equation of ideal gas
PV =nRT
PV 2x5.6

RT 082x54.6

m  82x54.6
4x82x54.6_
2x560

m= 15.9

=16

30. Which of the following is ideal gas equation?
frafaf@a # @ Fia a1 ey g e 2
(@) P/VT=pR

(b) T/PV=pR

(c) PV/T=uR

(d) PV/T = (1/u) R
ALP Stage -1I 22.01.2019 (shift - 1I)

Ideal gas equation is :- PV/T = uR

31. What is the SI unit of radioactivity? /XT3d gfiar & si 3’331'%’ FT B2
(a) Becquerel /SehlcT

(b) Curie /&g
(c) Faraday/ﬂ?ﬂg
(d) Rutherford/IEI®IS
RRB NTPC 13.03.2021 (Shift-II) Stage Ist
SI UNIT Symbol Physical quantity
Metre m Length
Kilogram kg Mass
Second S Time
Ampere A Current
Kelvin K Temperature
Mole mol Quantity of substance
Candela Cd Luminuous intenstity

32. Which of the following is used as 'a fissionable fuel' in a nuclear reactor?/feIfeli@d & & fhder 39AET
wAY] Rueer & fa@shT e & &9 7 fhar S g2

(a) U208

(b) U235

(c) Pu229

(d) Pu115
RRB NTPC 17.02.2021 (Shift-IT) Stage Ist

e Nuclear power plants use a certain type of Uranium - 235 U as fuel because its atoms are easily split apart.
e 235 U is relatively rare at just over 7% of natural Uranium - 235 U Contains 92 protons and 143 neutrons.

o XA Foll €I U & ®9 H Ueh ARG FehR 6 JATHA — 235U T 30207 Xl § Fieh $Hb
TATO] 3Tl & Famfore g oy §
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o 235U TTehicteh 1A o 7% & $o5 eI O HI&Thl GorsT & - 235 U H 92 elel 3R 143 =gl gial
el

33. For which of the following fields did Madam Curie win the Nobel Prize?

Hewt gl o TITTEE # O e 8 & T A qrER e
(a) Physics and Chemistry /31T 3R @R—eT o

(b) Physics and Astronomy /#ifaehT 3R @l fa=mer

(c) Physics and Meteorology /#iifaehr 31k #tas faamer

(d) Chemistry and Biology/T@&Tasl faae 3iR S faamer
RRB NTPC 22.02.2021 (Shift-I) Stage Ist

e  Marie Curie, was a Polish-born French physicist, famous for her work on radioactivity andtwice a winner
of the Nobel Prize.

e  She was awarded the 1903 Nobel Prize for Physics.

e  She was the also winner of the 1911 Nobel prize for Chemistry.

o HY TN, fcrer Her Hr e afifren et off, S YSAeafFar ax 3roey s & fore ufdge of 3 ar
IR Aol ERR A fasiar |

o 3w 1903 # $iifcrehr o forT Aol REhR & FEATlAd fohar ara |

o T A AT & fAT 1911 & Al REPR H i oir of)

34. Which of the following is used in the treatment of cancer? /fAFATa@d H & fhTHT 39T FIX &
39aR # fRar S g2

(a) An isotope of cobalt /PIeTee HI Teh HBARCT

(b) An isotope of iodine /3TTATEIT &T Teh ST

(c) An isotope of uranium /113'@'&?:[ I Tch 3-]13@2’[@

(d) An isotope of copper /diS T Th 3-113'&’[??[‘3[

RRB NTPC 06.04.2021 (Shift-1) Stage Ist

e  Cobalt — 60 is used in the treatment of blood cancer. It is produced artificially in nuclear reactors.
e Cobalt-60 is a high intensity Boman ray emitter. This is the reason it is used for the treatment of
bloodcancer.The blood cancer is also called Leukemia.

o FISTET-60 T STV I e & ITAR A FhAT ST & | SHAT ScdTee AT RUeFet 7 HHAA T A
T Sar g

e  FIETeC-60 Ueh 3T JIGdT aTell S1He (0T 3cHoToh & | TeT PRUT ¢ foh SHHT 3YINT 5015 halX & Scllol
o ToIT fohaT ST § | 5678 3T Y egehiaan 8 gl STl g |

35. Which radioisotope is used for the treatment of metastatic bone cancer?/HerEe e ES'Sﬁ' F PR H Scllal

& for forg YEasmsART &1 39T fFar ST &2
(a) Carbon-14

(b) Strontium-89

(c) lodine-131

(d) Phosphorous-32
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RRB NTPC 15.02.2021 (Shift-1) Stage Ist

Isotopes Uses

e  Strontium — 89 Curing of metastaic bone cancer
e lodine— 131 Thyroid cancer curing

e  Phosphorous — 32 Treatment of Leukemia

e  Cobalt — 60 Treatment of blood cancer

36. Which of the following is not a radioactive element? /ﬁmﬁl‘f@ﬁ H O i a1 WAEdT aca F@f %’?
(a) PIutonium/‘ﬂ@ﬁ'ﬂF
(b) Titanium /TSI
(c) Uranium/ﬂjﬁ'ﬂﬂ
(d) Thorium /AIRT#T
RRB ALP & Tec. (13-08-18 Shifi-I11)

e Titanium is an iron-like metal. Its relative density is 3.49 to 3.59 and the liquid is around 2000°C.

o TSIATH U olig ST YT B SHERT TUTETh TeTed 3.49 { 3.59 TTUT & oIaT87aT 2000°C B

37. Marie Curie received the Nobel Prize for whose discovery?

Y Ty @ REDT Tl & AT e RERR e
(a) Uranium/ZI‘:l'f?PJI?:r
(b) Plutonium /W@ﬁ'q??
(c) Radium/Xf3aer
(d)Turum/@W
RRB SSE 21.12.2014

e  Marie Sklodowska Curie (Marie Curie) was a famous physicist and chemist. Mary had discovered radium.
o  She is the first scientist to be awarded the Nobel Prize in two branches of science (physics andchemistry).

o N ETONEICERT a1 ) T SR s R 3 e 2| 318 3 YR wiror
|
o g faerret & &Y A3t (e iR TE fa=irer) 7 Aleel [REPR & FFATTAT 8let dTell Tgoll
e
38. What is the chemical bond in which molecules are formed by combining atoms? /g T €T FT &
SEH AT & T F 3] T 87
(a) Nuclearforce/tIWUl ER)
(b) Short range force /&H @ <l dcf

(c) Electrostatic force /saaifllzé ¢h dof

(d) Gravitational force /W‘ﬁ'UT el
RRB SSE (21.12.2014, Set-08, Green paper)

e The electrostatic force that binds the atoms present in a molecule and keeps the molecule in a special
geometrical shape is called chemical bond.
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o g FelacIEeiee ool S 30T F HiS[g ITATUL3T AT STeral & 3 3107 &t Ueh FIA SR e &
TG &, TS SEeT FgaTdT ¢ |

39. Who invented radioactivity?/@ﬁﬂm FT AMASHPR Thde Har?
(a) Max Planck /&g ol

(b) James Clerk Maxwell /o7&8 Foleh HFgdd

(c) Henri Becquerel/geTI Sahiel

(d) Heinrich Hertz /g Eéﬁf

RRB NTPC 16.04.2016 (Shift-III) Stage Ist

e Some invisible rays are automatically released from certain elements and their compounds.
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40. What is Pitchblende related to? /ﬁﬂﬁg Fog gafad %’?
(a) Radium/AT3IH
(b) Uranium /?13'%'&??
(c) Thorium/2TRT
(d) PIutonium/‘ﬂ@ﬁ'ﬂF
RRB NTPC 05.04.2016 (Shift-1I) Stage Ist

e Pitchblende is related to uranium, a radioactive uranium mineral and ore. Uranium is also known as a
radioactive element.
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